Purley Baptist Church - July 2018

Sunday 1st	All Age Worship Weekly Sunday Service	Sanctuary	9:30am - 10:45pm
	All Age Worship Weekly Sunday Service	Sanctuary	11:15am - 12:45pm
	School of Ministry All welcome	Sanctuary	6:00pm - 7:00pm
	Evening Worship Weekly Evening Service	Sanctuary	7:15pm - 9:00pm
Monday 2nd	CAP Job Club Practical, friendly help for anyone seeking emplo	Lower Hall yment.	12:00pm - 3:00pm
	Sports COG Young people's sports group	Sports Court	7:00pm - 9:30pm
	Alpha A series of interactive sessions that freely explore Fortnightly, Mondays 7:30-9pm.	Cafe e the basics of the Christian faith. There's no pressure	7:30pm - 9:00pm , no follow up and no charg
	Empowered A place for girls to talk about life and God and be	Upper Hall empowered in the everyday. Group for girls aged Sch	7:30pm - 9:30pm nool Years 9+.
	Aperture Photography Club Fortnightly, Mondays 8pm. / Full details are at w	Lower Hall ww.apertureclub.org.uk	8:00pm - 9:30pm
Tuesday 3rd	Cameo Informal service for older people	Lower Hall	10:30am - 12:00pm
	Beavers for girls aged 5-8 years We partner with the 29th Purley Scout Group to p Scouting Movement, there are groups for boys at	Lower Hall provide groups for children and young people aged 6-1 and girls.	5:00pm - 6:15pm 18 years. Based on the
	The Cage Football group for boys aged 15+	Sports Court	7:00pm - 8:30pm
Wednesday 4th	Bods & Tods Toddler group for newborns to 4 year olds.	Lower Hall	10:00am - 11:30an
		Qube ates, shoot some pool, prove who really is the best ga ext to Purley Library, the QUBE offers something whic a 2.35-5pm during term time.	
hursday 5th	Art Club	Lower Hall	2:00pm - 3:45pm
maroday our	Weekly, term time only. / / This is for those who enjoy painting with watercolours and would like to spend time developing their skills with other like-minded people. All skill levels are welcome. Individuals find time painting alongside other people to be very beneficial - exchanging ideas and experience often means they are able to improve their skills at a faster pace than simply paintin on their own.		
		Lower Hall provide groups for children and young people aged 6-	5:00pm - 6:15pm 18 years. Based on the
	Scouting Movement, there are groups for boys at Lion Cubs for boys aged 8-10 years	Lower Hall	6:30pm - 8:00pm
		provide groups for children and young people aged 6-1	
	Generator Worship event for school years 9+	Sanctuary	7:00pm - 9:30pm
Friday 6th	Robin Cubs for girls aged 8-10 We partner with the 29th Purley Scout Group to p Scouting Movement, there are groups for boys are	Lower Hall provide groups for children and young people aged 6-	5:30pm - 7:00pm 18 years. Based on the
	Titanium Scouts for girls aged 10-14	Lower Hall brovide groups for children and young people aged 6-	7:15pm - 9:15pm 18 years. Based on the
	Explorer Scouts for ages 14-18 We partner with the 29th Purley Scout Group to p Scouting Movement, there are groups for boys ar	Upper Hall provide groups for children and young people aged 6-4 and girls.	7:30pm - 9:30pm 18 years. Based on the
	Minion Scouts for boys 10-14yrs	Upper Hall brovide groups for children and young people aged 6-	7:30pm - 9:30pm 18 years. Based on the

Sunday 8th				
Sunday 8th	All Age Worship Weekly Sunday Service	Sanctuary	9:30am - 10:45pm	
	All Age Worship Weekly Sunday Service	Sanctuary	11:15am - 12:45pm	
	School of Ministry All welcome	Sanctuary	6:00pm - 7:00pm	
	Evening Worship Weekly Evening Service	Sanctuary	7:15pm - 9:00pm	
Monday 9th	CAP Job Club Practical, friendly help for anyone seeking emplo	Lower Hall by Dyment.	12:00pm - 3:00pm	
	Sports COG Young people's sports group	Sports Court	7:00pm - 9:30pm	
	Empowered A place for girls to talk about life and God and be	Upper Hall e empowered in the everyday. Group for gir	7:30pm - 9:30pm rls aged School Years 9+.	
Tuesday 10th	Cameo Informal service for older people	Lower Hall	10:30am - 12:00pm	
	Beavers for girls aged 5-8 years Lower Hall 5:00pm - 6:15pm We partner with the 29th Purley Scout Group to provide groups for children and young people aged 6-18 years. Based on the Scouting Movement, there are groups for boys and girls.			
	The Cage Football group for boys aged 15+	Sports Court	7:00pm - 8:30pm	
Wednesday 11th	Bods & Tods Toddler group for newborns to 4 year olds. / Res	Lower Hall sumes 12 September	10:00am - 11:30am	
Thursday 12th	Art Club Lower Hall 2:00pm - 3:45pm Weekly, term time only. / / This is for those who enjoy painting with watercolours and would like to spend time developing their skills with other like-minded people. All skill levels are welcome. Individuals find time painting alongside other people to be very beneficial - exchanging ideas and experience often means they are able to improve their skills at a faster pace than simply painting on their own.			
	Beavers for boys aged 5-8 years We partner with the 29th Purley Scout Group to Scouting Movement, there are groups for boys a		5:00pm - 6:15pm ole aged 6-18 years. Based on the	
	Lion Cubs for boys aged 8-10 years We partner with the 29th Purley Scout Group to Scouting Movement, there are groups for boys a	Lower Hall provide groups for children and young peop	6:30pm - 8:00pm ole aged 6-18 years. Based on the	
	Generator Worship event for school years 9+	Sanctuary	7:00pm - 9:30pm	
Friday 13th	Robin Cubs for girls aged 8-10 We partner with the 29th Purley Scout Group to Scouting Movement, there are groups for boys a		5:30pm - 7:00pm ole aged 6-18 years. Based on the	
	Titanium Scouts for girls aged 10-14 We partner with the 29th Purley Scout Group to Scouting Movement, there are groups for boys a	, , , , , ,	7:15pm - 9:15pm ole aged 6-18 years. Based on the	
	Explorer Scouts for ages 14-18 We partner with the 29th Purley Scout Group to Scouting Movement, there are groups for boys a		7:30pm - 9:30pm ole aged 6-18 years. Based on the	
	Minion Scouts for boys 10-14yrs We partner with the 29th Purley Scout Group to Scouting Movement, there are groups for boys a		7:30pm - 9:30pm ole aged 6-18 years. Based on the	
Sunday 15th	24-7 Prayer	Qube	9:00am -	
Sunday 15th	24 hours a day pray for 7 days, 168 hours of pra	yer! Please sign up for an nour (or 2!).		
Sunday 15th	24 hours a day pray for 7 days, 168 hours of pra All Age Worship Weekly Sunday Service	Sanctuary	9:30am - 10:45pm	
Sunday 15th	All Age Worship		·	
Sunday 15th	All Age Worship Weekly Sunday Service All Age Worship	Sanctuary	9:30am - 10:45pm 11:15am - 12:45pm 6:00pm - 7:00pm	

Monday 16th	24-7 Prayer - 24 hours a day pray for 7 days, 168 hours of prayer! Please sign up for an hour (or 2!) Qube			
,	Sports COG Young people's sports group	Sports Court	7:00pm - 9:30pm	
	Empowered	Upper Hall mpowered in the everyday. Group for girls aged Schoo	7:30pm - 9:30pm I Years 9+.	
	Aperture Photography Club Fortnightly, Mondays 8pm. / Full details are at www	Lower Hall	8:00pm - 9:31pm	
Tuesday 17th	24-7 Prayer - 24 hours a day pray for 7 day	ays, 168 hours of prayer! Please sign up for an	hour (or 2!) Qube	
	Cameo Informal service for older people	Lower Hall	10:30am - 12:00pm	
	Beavers for girls aged 5-8 years We partner with the 29th Purley Scout Group to pro Scouting Movement, there are groups for boys and	Lower Hall vide groups for children and young people aged 6-18 y girls.	5:00pm - 6:15pm years. Based on the	
	The Cage Football group for boys aged 15+	Sports Court	7:00pm - 8:30pm	
Wednesday 18th	24-7 Prayer - 24 hours a day pray for 7 da	ays, 168 hours of prayer! Please sign up for an	hour (or 2!) Qube	
Thursday 19th	24-7 Prayer - 24 hours a day pray for 7 day	ays, 168 hours of prayer! Please sign up for an	hour (or 2!) Qube	
	Beavers for boys aged 5-8 years	Lower Hall	5:00pm - 6:15pm	
	We partner with the 29th Purley Scout Group to pro Scouting Movement, there are groups for boys and	vide groups for children and young people aged 6-18 y girls.	years. Based on the	
	Lion Cubs for Boys We partner with the 29th Purley Scout Group to pro Scouting Movement, there are groups for boys and	Lower Hall vide groups for children and young people aged 6-18 y girls.	6:30pm - 8:00pm years. Based on the	
	Generator Worship event for school years 9+	Sanctuary	7:00pm - 9:30pm	
Friday 20th	24-7 Prayer - 24 hours a day pray for 7 days, 168 hours of prayer! Please sign up for an hour (or 2!) Qube			
	Robin Cubs for girls aged 8-10 We partner with the 29th Purley Scout Group to pro Scouting Movement, there are groups for boys and	Lower Hall vide groups for children and young people aged 6-18 y girls.	5:30pm - 7:00pm years. Based on the	
	Titanium Scouts for girls aged 10-14 We partner with the 29th Purley Scout Group to pro Scouting Movement, there are groups for boys and	Lower Hall vide groups for children and young people aged 6-18 y girls.	7:15pm - 9:15pm years. Based on the	
	Explorer Scouts for ages 14-18 We partner with the 29th Purley Scout Group to pro Scouting Movement, there are groups for boys and	Upper Hall vide groups for children and young people aged 6-18 y girls.	7:30pm - 9:30pm years. Based on the	
	Minion Scouts for boys 10-14yrs We partner with the 29th Purley Scout Group to pro Scouting Movement, there are groups for boys and	Upper Hall vide groups for children and young people aged 6-18 y girls.	7:30pm - 9:30pm years. Based on the	
Saturday 21st	24-7 Prayer - 24 hours a day pray for 7 da	ays, 168 hours of prayer! Please sign up for an	hour (or 2!) Qube	
Sunday 22nd	24-7 Prayer 24 hours a day pray for 7 days, 168 hours of prayer	Qube ! Please sign up for an hour (or 2!).	- 9:00am	
	All Age Worship Weekly Sunday Service	Sanctuary	9:30am - 10:45pm	
	All Age Worship Weekly Sunday Service	Sanctuary	11:15am - 12:45pm	
	School of Ministry All welcome	Sanctuary	6:00pm - 7:00pm	
	Evening Worship Weekly Evening Service	Sanctuary	7:15pm - 9:00pm	
Tuesday 24th	Art & Craft Holiday craft activities for children aged 5 and above	Lower Hall e	10:00am - 12:00pm	
Wednesday 25th	Art & Craft Holiday craft activities for children aged 5 and above	Lower Hall e	10:00am - 12:00pm	
	Thy Kingdom Come Prayer Meeting	Sanctuary	8:00pm - 9:00pm	

Thursday 26th	Art & Craft Holiday craft activities for children aged 5 a	Lower Hall and above	10:00am - 12:00pm
	Generator Worship event for school years 9+	Sanctuary	7:00pm - 9:30pm
Sunday 29th	All Age Worship Weekly Sunday Service	Sanctuary	9:30am - 10:45pm
	All Age Worship Weekly Sunday Service	Sanctuary	11:15am - 12:45pm
	School of Ministry All welcome	Sanctuary	6:00pm - 7:00pm
	Evening Worship Weekly Evening Service	Sanctuary	7:15pm - 9:00pm